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p=Cw+ Covw

AD = Power Consumed in specific period

Total Hours of the same period

B 2 Maximum Demand
" Total Connected Loads

FD - E?’=1(DE)
Dg

__ Avarage Load

}1=1 TCD; * DF,_

Fip = Peak Load ER = D,
- - Avarage Load * T FC = D.g
LD ™ " peak Load xT " Dy+Dy+ Dy ++D,
Units Served FC=_Po _ 1

F, =
L™ peak Load * T

T OER(Dp)  FD

— D1+D2+D3+"'+Dn — 1

Dy FC

FD

LD Z(Dl +D2+D3 +"'+Dn) —Dg

& A0 D)
Sa(Dy) = Dg €= oy
Fif = Maximum Demanr.i FC = DZ?:l(C[')
Total System Capacity = nxD
i=1(C)
Dg = CyD, + C;D, + C3D5 + -+ + C,, D, FC =—L
n

C _ C1D1 + CzDz + C3D3 + b + CnDn

?:1( Di)

oo Average Power Loss
LS ™ "power Loss at Peak

Fis =03 F,p +0.7 F3,

Fis = 0.16 F,p + 0.84 F2,




